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Solve each systerh by graphing. '
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When graphing system of equations...

1) Make sure BOTH equations are in y=mx+b form.

2) Click on y=

3) Type in 1 equation into y; and the other equation into
ya.

4) Click on GRAPH

5)Determine the # of Solutions (1, No, or Infinitely Many)
**If 1 Solution:

© Click on 2" and TRACE

© Go down to 5 (Intersect)

© Click Enter 3 times

© Write answer as an ordered pair



Practice. Show G]mp\r\ usincj Calculator.
ALL work when
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Homework: Finish the Practice from previous slide. If
you did not finish graphing all of the equations in the
graphing calculator in class, finish for homework.






